1-023
12<
2 2—1 1 1780mm><
910 mm
1
-2
O 10 11< 12< 13< 14< 15< 16°
Co e 12<
-3 CL O 10°
13< e 12<
-1
e 12< BH 4 456 5 5.78
(o'¢
2—2 1800mm><1100mm
e 12< B/H (o
3 3—1 1 B/D
-4 7 B/D 5.78 (o 6°<
3< (o'¢ 4= 6<
-4 B/D 5 (o 5< 3<
o 6°< 4= 6<
-5 B/D 4.56 B/H 5 (e
5< 3< (o 6= 4=
6< -6 B/D 4 (o}

_45_

ARSI ERER S (2006.3)

H

=

a
@

[N
N
L g
i

Drag coefficientCo
-
o
o

o
(=]
[53)

0.9 . @
"9 10 11 12 13 14 15 16 17

Lower plate slope© (<)

-2
0.4 | 1 .
| e ©
S 0.2 ®
-
3
IG 0
=
T 0.2
8 ) b4
£
= -0.4 ..
9 10 11 12 13 14 15 16 17
Lower plate slope®© (<)
-3
1
- 0 ——a +6°
2 W +4° 11
S, 8|—r—a +3° A
= ——o =0° F‘I‘
[ ——a -3°
g 6 l—a 67
]
=1
b=
o
=
<<
o 2 L |
=
>
So
0 5 10 15 20 25
Reduced Wind Velocity(Vr=V/fB)
-4 B/D=5.78
10
—>—a +6°
- +4° )l
g|—=a +3< A

——a =0
—+—a -3°
——a -4°

e |
T
|

——a -6°

Double Ampitude(2¢)[deg.]

0 5 10 15 20 25
Reduced Wind Velocity(Vr=V/fB)

-5 B/D=5



1-023

40 20
60

B/D

30

B/D

B/D

B/D

12<=

Cob

B/D

e 12<

e 12<

B/D

CL

B/D 4

50

B/D

B/D

Co
B/D
B/D

a 0<
B/D

B/D

B/D

B/D 4

ARSI ERER S (2006.3)

=
o

—<—a
—_-
——
——
——a
——a
-
—~—a

tt 1
I

©

(o))

~

N

Double Ampitude(2¢p)[deg-]

o

10 15 20 25

; .,‘\
Reduced Wind Velocity(Vr=V/fB)

-6 B/ D =4.56

[E
o

—a 1ttt

—_—

©

——
——
——

(o]

——
=
——

N

Double Ampitude(2¢)[deg-]
D
LIRS
000
——
——

o

o e TTe
05 10 15 20 25
Reduced Wind Velocity(Vr=V/fB)

-7 B/ID=4

sm&hm 4 456 5

—f@ | 5 6 |6 L

+{E | +3° |+ +4°

—e—B/D=5.78
—+—B/D=5

—=—B/D=4.56
——B/D=4

Drag coefficientCo
-
N

0.6 i

-10 -5 0 5 10

Angle of attackoa (<)

-8 Cob

0.2
——B/D=5.78
0 |——B/D=5

Z=

—m—B/D=4.56
-0.2 |—*—B/D=4
-0.4

-0.6

-0.8

Lift coefficient CL

4
_1%{
-1.2

-1.4
-10 -5 0 5

Angle of attacka (<)

-9 CL

59

_46_

659 ppl315-1316 2004

2004



